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void g_teki ( void) {
//BIZBEd S EE%k

int i;

for( i = 0; i < TEKI_KAZU; i++){
if( tekilil. flag == 1) {
//teki[i]. flag = 1 TEIHA LS

if( time % 100 < 50) {
//0 ~507 L—LBEER
teki[i]. sokudo_x = TEKI|_SOKUDO;
}

elsel
//50 ~1000 L—LBf-EE
teki[i]. sokudo_x = -TEKI_SOKUDO;
}
tekil[i].x += tekil[i]. sokudo_x;
//REEEZIZRAT S

DrawGraph ( (tekil[il.x — teki[i].haba / 2), (teki[il.y -
teki[i]. takasa / 2), tekil[i].handle, true);
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}
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for (i = 0; i < TEKI_KAZU; i++) {
teki[i]. flag = 0;

tekil[il. lr = 1;
teki[i]l.x = 0;
tekil[il.y = 0;

}

teki[1].flag = 1;

teki[1]. x = 500;

teki[1].y = 200;

teki[1]. haba = 32;

teki[1]. takasa = 32;

teki[1]. handle = LoadGraph( “data/teki.bmp”);

teki[2].flag = 1;

teki[2]. x = 600;

teki[2].y = 100;

teki[2]. haba = 32;

teki[2]. takasa = 32;

teki[2]. handle = LoadGraph( “data/teki.bmp”);
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